	1.
	_______ is a set of instructions in a computer language that tells the computer what to do with data.

	
	(A)
	An operating system  
	(B)
	An algorithm
	(C)
	A data processor

	
	(D)
	A program
	
	
	
	

	2.
	Which of the following is equivalent to 24 in decimal?

	
	(A)
	(11000)2 
	(B)
	(1A)16
	(C)
	(31)8

	
	(D)
	None of the above
	
	
	
	

	3.
	If the ASCII code for E is 1000101, then the ASCII code for e is_______. Answer the question without consulting the ASCII table.

	
	(A)
	1000110 
	(B)
	1000111
	(C)
	0000110

	
	(D)
	1100101
	
	
	
	

	4.
	In the ______graphic method of representing an image in a computer, each pixel is assigned one or more bit patterns.

	
	(A)
	bitmap 
	(B)
	vector
	(C)
	quantized

	
	(D)
	binary
	
	
	
	

	5.
	The combination of sign and mantissa of a real number in IEEE standard floating point format is stored as an integer in the ___________representation.

	
	(A)
	unsigned  
	(B)
	sign-and-magnitude
	
	

	
	(C)
	two's complement
	(D)
	none of the above
	
	

	6.
	The ______ layer of the TCP/IP protocol suite is responsible for source-to-destination delivery of the entire message.

	
	(A)
	transport 
	(B)
	network
	(C)
	data-link

	
	(D)
	session
	
	
	
	

	7.
	_______ is a protocol for e-mail services.

	
	(A)
	FTP 
	(B)
	SMTP
	(C)
	TELNET

	
	(D)
	HTTP
	
	
	
	

	8.
	What is the domain name in the e-mail address kayla@nasa.gov?

	
	(A)
	Kayla
	(B)
	kayla@nasa.gov
	(C)
	nasa.gov

	
	(D)
	none of the above
	
	
	
	

	9.
	_______is multiprogramming with swapping.

	
	(A)
	Partitioning 
	(B)
	Paging
	(C)
	Demand paging

	
	(D)
	Queuing
	
	
	
	

	10.
	_______ is a multiprogramming method in which multiple programs are entirely in mem​ory with each program occupying a contiguous space.

	
	(A)
	Partitioning
 
	(B)
	Paging

	(C)
	Demand paging

	
	(D)
	Demand segmentation
	
	
	
	


	11.
	To prevent _______, an operating system can put resource restrictions on processes.

	
	(A)
	starvation 
	(B)
	synchronization
	(C)
	paging

	
	(D)
	deadlock
	
	
	
	

	12.
	In _____ sort, the smallest item moves to the beginning of the unsorted list. There is no one-to-one swapping.

	
	(A)
	selection
	(B)
	bubble
	(C)
	insertion

	
	(D)
	all of the above
	
	
	
	

	13.
	_______ is an English-language-like representation of code.

	
	(A)
	A UML diagram 
	(B)
	A program
	(C)
	Pseudocode

	
	(D)
	And algorithm
	
	
	
	

	14.
	C++ is a(n)_______language.
	
	
	
	

	
	(A)
	procedural
	(B)
	functional
	(C)
	declarative

	
	(D)
	object-oriented
	
	
	
	

	15.
	In the system development process, structure charts are tools used in the ______ phase.

	
	(A)
	analysis
	(B)
	design
	(C)
	implementation

	
	(D)
	testing
	
	
	
	

	16.
	______ is a measure of how tightly two modules are bound to each other.

	
	(A)
	Modularity
	(B)
	Coupling
	(C)
	Interoperability

	
	(D)
	Cohesion
	
	
	
	

	17.
	All the members of a record must be ______.

	
	(A)
	the same type 
	(B)
	related types
	(C)
	integer type

	
	(D)
	character type
	
	
	
	

	18.
	The ______ is a pointer that identifies the next element in the linked list.

	
	(A)
	link

	(B)
	node
	(C)
	array

	
	(D)
	a or b
	
	
	
	

	19.
	If A is the first data element input into a queue, followed by B, C, and D, then ______ is the first element to be removed.

	
	(A)
	A

	(B)
	B
	(C)
	C

	
	(D)
	D
	
	
	
	

	20.
	In _______ traversal of a binary tree, the right subtree is processed last.

	
	(A)
	preorder
 
	(B)
	inorder
	(C)
	postorder

	
	(D)
	a or b
	
	
	
	

	21. 
	__________ is a lossy compression method for pictures and graphics, whereas ____________ is a lossy compression method for video.

	
	(A)
	DCT, MPEG
	(B)
	MPEG, JPEG
	(C)
	JPEG, MPEG

	
	(D)
	JPEG, DCT
	
	
	
	

	22.
	If the memory address space is 16 MB and the word size is 8 bits, then ________bits are needed to access each word.

	
	(A)
	8

	(B)
	16
	(C)
	24

	
	(D)
	32
	
	
	
	


〈背面尚有試題，請翻頁〉
	23.
	In the ______ method for synchronizing the operation of the CPU with an I/O device, the I/O device informs the CPU when it is ready for data transfer.

	
	(A)
	programmed I/O 
	(B)
	interrupt-driven I/O
	(C)
	DMA


	
	(D)
	isolated I/O
	
	
	
	

	24.
	Using the definition to find the fol​lowing answer, C(5,5) and C(4, 3): 
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	(A)
	4, 1 
	(B)
	does not exist, 1
	(C)
	1, 120

	
	(D)
	1, 4
	
	
	
	

	25.
	Which one is the Excess_127 (single precision) representation of the decimal number -0.0234375:

	
	(A)
	1 01111001 10000000000000000000000 
	(B)
	0 01111001 10000000000000000000000

	
	(C)
	1 00111001 10000000000000000000000
	(D)
	1 00000011 10000000000000000000000
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